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1. =52q . 73q

(i) 126q (ii) 356q (iii) 355q (iv) 125q (v) 612q

2. =54n . 68n . 72n

(i) 6418n (ii) 1814n (iii) 21014n (iv) 1864n (v) 21064n

3. =93b . 54b . 59b . 92b

(i) 28216b (ii) 40524b (iii) 2419b (iv) 199b (v) 4059b

4. =	−	 27u .	−	 (-2)2u

(i) 0 (ii) −9 (iii) (-4)14u (iv) − (-4)9u (v) 14

5. =	−	 (-7)4r .	−	 25r .	−	 (-4)6r

(i) − 5615r (ii) 	−	 (-9)120r (iii) − 56120r (iv) − (-9)15r (v) − (-120)9r

6. =	−	 24s .	−	 (-5)3s .	−	 (-9)8s .	−	 (-6)9s

(i) − (-12)16s (ii) (-18)864s (iii) − 60108s (iv) − (-108)12s (v) − 6016s

7. Find	the	square	root	of =t2	 u
4
	 v
2
	

(i)
2

(t2	 u
4
	 v
2
	 ) (ii) tu2	 v (iii) tuv8 (iv) tuv16 (v)

1
t2	 u

4
	 v
2
	

8. =n(-6) o(-3)9 .	−	 n5 o82

(i) n(-1) o511 (ii) n(-1) o57 (iii) − n(-6) o(-3)18 (iv) n(-1) o(-11)18 (v) − n(-1) o518

9. =
5

(n3	 )

(i) n35 (ii) n15 (iii) n2 (iv) n8 (v) n3

10. =
d11

d5

(i) d55 (ii) d611 (iii) d16 (iv) d6 (v) d65



11. =
6

(h6	 i
4
	 )

(i) h12 i106 (ii) h36 i246 (iii) h6 i46 (iv) h12 i10 (v) h36 i24

12. =(−5b4	 c
3
	 )
4

(i) − b16 c1220 (ii) − b16 c125 (iii) b8 c7625 (iv) − b8 c720 (v) b16 c12625

13.

2

=(
17a
8a
)

(i) 92a (ii) 272a (iii) 18a (iv) 50a (v) 252a

14.

6

=(
k4 l7

m7 )

(i) (
k4 l76

m76
) (ii) (

k24 l42

m13 ) (iii) (
k10 l13

m42 ) (iv) (
k24 l42

m42 ) (v) (
k10 l13

m13 )

15. =
b20 c13

b3 c7

(i) b33 c10 (ii) b23 c6 (iii) b17 c20 (iv) b23 c20 (v) b17 c6

16. =
2s
20s

(i)
1
(-18)s (ii)

1
18s (iii)

1
40s (iv) 18s (v)

1
22s

17. =
(v+7)

(u5	 )

(i) u(v+40) (ii) u(5v−35) (iii) u(v+17) (iv) u(5v+12) (v) u(5v+35)

18.

g

=(
a6

b2
)

(i) a 6g. b 2g (ii) a 6g.	−	 b 2g (iii)
a 6g

b2g
(iv)

b 2g

a6g

19. =(
m(5r−1)

m(−8r) )

(i) m(13r−1) (ii) m13r (iii) m(−r+13) (iv) m(−14r2	 +64r−42) (v) m(−3r−1)



20.

6

=(
j 13

j 8
)

(i) j 306 (ii) j 30 (iii) j 8 (iv) j 21 (v) j 13

21.
8
=( g20g)

(i) g 20g (ii) g 160g8 (iii) g(20g+8) (iv) g 160g

22.
2
=( r2. s3)

(i) r2. s6 (ii) r4. s6 (iii) r4. s5 (iv) 1.s (v) r4. s3

23.
5
=( (-2)

(s2	 ) )
(i) s(-1) (ii) s (-20) (iii) s5 (iv) s (v) s(-9)

24.
-1
=( b2 . c(-2)2 )

(i)
	−	 c22

	−	 b(-1)2
(ii)

b2

c(-1)4
(iii) c2

b4
(iv)

c22

b(-1)2
(v) c2. b(-1)4

25. =(f−g)(-7). (f−g)7

(i) (f−g)(-49) (ii) (f−g)7 (iii) 1 (iv) (f−g)(-14) (v) (f−g)(-7)

26.

-4

=(
q54

r54
)

(i)
q(-20)256

r(-20)256
(ii) q256

r256 (iii)
r20256

q20256
(iv)

q(-20)256

r5256

27. 	=
q(-9)

s(-2)3

(i)
s23

q9
(ii)

s(-2)

q(-9)3
(iii)

q2

s93
(iv)

s(-2)3

q(-9)
(v)

s2

q93



28. Which	of	the	following	statements	are	true?

a) 	=	am. a n amn

b)
n
	=	

m( xm) ( x n)
c) 	=	a. xm am. xm

d) 	=	 x
xm

xn
m
n

e)
n
	=	( xm) x(m+n)

f) a 0 	=	 1 	 (a≠0)

(i) {a,b} (ii) {b,f} (iii) {d,e,b} (iv) {c,f} (v) {a,f,b}

29. Simplify 	(
7p. 64(p−5). 81(p−4)

49(p−5). 8(p−4). 9(p−1)
)

(i) 7(p+5). 8(−p+3). 9(−p−2) (ii) 7 5. 8(−1). 9(−3) (iii) 7(−p+10). 8(p−6). 9(p−7)

(iv) 7(−p+10). 8(−p+3). 9(−p−2)

30.
0
=( (-7)	+	 (-7)a b )

(i) (-1) (ii) 3 (iii) 1 (iv) 0 (v) (-7)	+	 (-7)a b

31. ✕ ✕ =( efg2
3 ) ( f5 g28 ) (	−	 g95

6 )
(i) − e f6 g1240

9 (ii) f14 g1350
9 (iii) − e f15 g540

9 (iv) e f6 g316
3 (v) g12e f1025

54



 1)	(i)  2)	(iv)  3)	(i)  4)	(v)  5)	(ii)  6)	(ii)

 7)	(ii)  8)	(v)  9)	(ii)  10)	(iv)  11)	(v)  12)	(v)

 13)	(iii)  14)	(iv)  15)	(v)  16)	(ii)  17)	(v)  18)	(iii)

 19)	(i)  20)	(ii)  21)	(iv)  22)	(ii)  23)	(ii)  24)	(iii)

 25)	(iii)  26)	(iii)  27)	(v)  28)	(ii)  29)	(iii)  30)	(iii)

 31)	(i)
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